The weather is
Answer:

A2

today.

Itis outside.

Answer:

The sky is
Answer:

There are
Answer:

clouds in the sky.

The temperature is

Answer:

Itis today.

Answer:

There is a
Answer:

wind.

The weather forecast predicts rain.

Answer:

We can expect
Answer:

temperatures tomorrow.

The weather is
Answer:

for a picnic.




Answers

The weather is today.

Answer: sunny

Itis outside.
Answer: hot

The sky is
Answer: clear

There are clouds in the sky.
Answer: white

The temperature is
Answer. warm

Itis today.
Answer: humid

There is a wind.

Answer: strong

The weather forecast predicts rain.

Answer: heavy

We can expect temperatures tomorrow.
Answer: high
The weather is for a picnic.

Answer: perfect



